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244 95 T o 22,871,638 18,989, 168 3,882,470
= 4,121,381
2 4,724,926
[ 698,289
= 13,327,042
A2 1,082,482 851,610 230,872
[= 100,000
= 982,482
UBIA ML HF X 17,354 13,909 3,445
CRUNEY ZMXH 5,984 5,984 0
101 Q1A H] 4,984 4,984 0
04 JIZtHZ2Z2NHEES 4,984 4,984 0
OEZ NS XA 2
34,6102 * 4891 * 3 4,984
201 LEr2HH| 1,000 1,000 0
01 AR 22IH] 1,000 1,000 0
Olger=2H|] 1,000
OUWEST A 2-E HIE
50,0002 * 200K A 1,000
IR 222 7,770 4,766 3,004
401 Al&HI LS 7,770 0 7,770
01 Al&H] 7,770 0 7,770
O[EXIHHI] 7,770
O A=Y U &3 +42
105,000 * 742 X 7,770
s2 0|MS)) 3,600 3,159 441
201 LEI2HH| 3,600 3,159 441
01 AFS22IH] 3,600 3,159 441
Olger4=2H|] 3,600
OMOISEsZ 0|I8S)| =2
60,0002 » 60Z X 3,600
JI2E A FH| 1,065,128 837,701 227,427
[= 100,000
= 965, 128
IIRE 22l 745,952 509,447 236,505
201 LEt2AH| 552,000 315,072 236,928
02 224l 552,000 315,072 236,928
Ol222=2 2 HMAl 552,000
o889 Jt2s dIIe3
5,750 * 8,000 * 12012 552,000
401 Al&HI LS 193,952 194,375 A423
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01 Al&l 192,750 192,755 A5
OlA&HI] 192,750
OFUX 2SS & 500,008 * 95 4,500
OJRE QA (HIZ)nA
125,10020 * 43.965 5,500
OFII HFAID Ol 2O SYHBI| 1
ol 70,0002 * 655 4,550
OJIRS SNLSAY HEE
400,0009! * 445.55 178,200
03 Al& S CHY| 1,202 1,620 ~418
OJNZE |SXB4 HE 20
166,944,44421 = 0.72% 1,202
zn2 22l 319,176 328,254 £9,078
= 100,000
2 219,176
201 Y2 Y| 4,678 4,678 0
01 AtR2elt] 178 178 0
oler2gyl] 178
oZIES AYH AEIH HMH
1,1002 * 1610H 178
olzztl 0
02 T2l 4,500 4,500 0
Olxtg «etl] 4,500
OALHHNT ARl 90,0008 + 128 1,080
OALHBNE HSREU
1,5008 * 2,280 ¢ 3,420
401 AEHIYL R 314,498 323,576 ~9,078
= 100,000
2 214,498
01 Al&| 312,240 321,240 9,000
OlA£HI] 312,240
O#%9 NN XHS& nA
2,700,0002 * 1944 2,700
OF 40 HAIH A& 9,000,000 * 1A 9,000
O8 4 HADH B4 450,0008 * 692 2,700
OF1 2HNSHAEMS Hel &AM (D
2)At 297,840,0002 * 14! 297,840
= 98,288
2 199,552
03 Al& SO 2,258 2,336 AT8
OB HAI A4 L0HH)
9,000,0002 * 1.08% %8
OFt 2ANEXNBFUE HelBAMWL(ZDS)
JNE=RE Y] 300,000,0008 * 0.72% 2,160
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APCER] 2t 99,541 101,140 A1,599
tzszel 99,541 101,140 A1,599
201 Letedy| 63,056 63,056 0
02 2229 63,056 63,056 0
oZze2 2 HMAl 63,056
OUESLE JIZSE ®IIQZ
4,7008 * 1,118 » 12 63,056
401 AlEHI L2y 36,485 38,084 A1,599
01 Al&H] 35,805 35,865 AB0
O[AI&HI] 35,805
OUEUE JIZSE SNES
100,000 * 6725 * 20% 13,440
OLHESAILH JIRE LS A WA
1,296,0009 * 1000 A 12,960
OUEME JIRE “SEED| i
1,881,0002 * 50 A 9,405
03 Al&2HY 680 2,219 A1,539
OUEME JIRE QKB4 20
13,518,5182 * 1.08% 146
OUEANT JI2S “SAIE DA S
40,000,0002 * 1.08% 432
OEME JIRE “5EHEI| DA 20|
9,444, 44421 * 1.08% 102
CRAA 7,029,857 4,173,638 2,856,219
2 757,000
[= 30,000
2 6,242,857
cEgxE 1,083,685 964, 146 119,539
[= 30,000
= 1,053,685
cEgxze 94,682 62,515 32,167
201 Lt dy| 64,032 36,550 27,482
01 AFR2t2lH| 40,000 10,000 30,000
OlLer=2H|] 40,000
02z ¥ sHEE2 & H
25,0009 * 1,200% 30,000
O8H Z& 2 SHEZ2 &H M
2,0009 * 454.5401 * 11S™ 10,000
02 222 24,032 26,550 A2,518
O[ANAZHIRXIHI] 6,032
OTZHHIE 2HI|, x|, B2
1,4002 * 1,930 ¢ 2,702
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OIS H=I| RAIHI|
900,000 * 14l 900
OI[XtgF Sety]] 18,000
OZ2842 U SXHl 180,0008 * 12€ 2,160
OE2BLE I SR
1,5009 * 5,760 ¢ 8,640
OS2HA Xtz X4 180,000& * 12 2,160
OE2X Xtz SFM 1,500 » 3,360 ¢ 5,040
206 X 24l 5,650 5,650 0
01 24l 5,650 5,650 0
OE2HHI2 ol=x)| 2 233,300 * 3CH 700
OEZHAX LHEHEHAHE FAZHRY
4,500,000 * 14l 4,500
OZZHHIE UM R (&, 2H01,8,)
450,000°4 * 14 450
405 KHAHE SH 25,000 20,315 4,685
01 MHAMLSEFSH| 25,000 20,315 4,685
OgstzrsaE)| 2 25,000,000 * 1CH 25,000
A2 Off CH 24 14,175 16,975 A2,800
201 LEt2HH| 2,250 2,250 0
01 AFRZ2lH] 1,170 1,170 0
Olger4=2H|] 270
O4Z2 OIFAIE &R R
30,0002 = 3& * 34 270
Ol1=Hl] 900
O%==2% 1= 150,000 * 69! 900
02 222%H| 1,080 1,080 0
OlE23LAAI] 1,080
Ox=2UIA MIRB 90,0002 » 128 1,080
206 X 24l 11,925 11,925 0
01 24l 11,925 11,925 0
OM&=gde datzts 72 150,000 » 428 6,300
OH&2 2o 2 25,0008 * 225m 5,625
CE2AH| 974,828 884,656 90, 172
[= 30,000
= 944,828
206 XH2H| 5,490 15,408 A9,918
01 24l 5,490 15,408 A9,918
O AllE4+2 =5t 72¢
15,0002 * 300 CH 4,500
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99,0008 * 10=2 990
401 Al&HI 2SO 969,338 869,248 100,090
= 30,000
= 939,338
01 Al 965, 500 860, 500 105,000
O[AI&HI] 965, 500
OSZEXE I 1,125,0002 * 8JH A 9,000
OM=NE M L &
1,000,008 * 5JH4 5,000
O5Z ALEB2E HIISHL
28,6008 * 472 13,500
052 AMES ALY 202,70281 * 222a 45,000
OPE WY U2t B4 2,500,0008 « 94 22,500
OS0ETR Ny HaAzs
2,500,0008 * 944 22,500
OHIZZEZ X2AZII(11SH)
9,000,0008! * 11S@ 99,000
OEZZ® =3yl 9,000,0008 * 1S 99,000
ORE Rl T 2,500,0009 * 18kn 45,000
OSUZEE2 XM A 2,500,0008 * 18kn 45,000
OPE ¥ sS0EE2 Rzl
1,497,0058 * 334kn 500,000
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= 30,000
03 Al& =Dl 3,838 8,748 ~4,910
OHIZXEZ X2 20l
99,000,008 * 0.72% 713
OS2Y =3FH 20|
99,000,0008 * 0.72% 713
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65,000,0002! * 0.72% 468
ORE 2 SHEEZ2 Szl 2ol
270,000,0008 * 0.72% 1,944
SR nE2el HA 1,157,000 700,000 457,000
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T 400,000
SI& T 2N M ALY 400,000 500,000 100,000
= 200,000
T 200,000
401 AlSHIL SO 400,000 500,000 100,000
= 200,000
= 200,000
01 Al 400,000 500,000 100,000
O[A&HI] 400,000
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401 Al&HIL =20 557,000 200,000 357,000
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01 Al&t| 557,000 198, 560 358,440
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2 100,000
00210l 2SS A CCTV
357,000,0002 * 14 357,000
3 357,000
DEAD RS HEAE 200,000 0 200,000
=l 100,000
= 100,000
401 Al&HIL 2| 200,000 0 200,000
z 100,000
2 100,000
01 Al&t| 200,000 0 200,000
OlAI&HI] 200,000
ONEMNH L SFHDIZ &3
200,000,0002 * 14 200,000
=l 100,000
= 100,000
E2Y =5 001,595 594,050 407,545
%ol FS-TAIN PE HIY JA 601,595 503,240 98,355
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01 Al&t| 600,000 500,000 100,000
OIEX U] 200,000
0YY FS-TUN RE HTI A EXI0H
o 200,000,0009 * Tk 200,000
OlAI&HI] 400,000
0YY BS-TUY 2T HTY DA
400,000,0002 * 1kn 400,000
03 Al&=CH| 1,595 3,240 A1,645
OYY FS-JA T HEH JA 2O
,505,0002 * 14] 1,505
Yot o2-YE PEHTE 400,000 0 400,000
401 AIEHIL2CH] 400,000 0 400,000
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A EXIOHE B 200,000,000% * 14! 200,000
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O[EXI0HHI] 150,000
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O[Al&HI] 1,300,000
Ol ME-FS SOECE SHEF JA
bl 1,300,000,0002 * 14! 1,300,000
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SH-ZY DERE MATE HATA 300,000 72,000 228,000
401 AlHIL2OHY] 300,000 72,000 228,000
01 Al&yl 300,000 72,000 228,000
O & A& HHI] 100,000
OSE-FY D&AT MYT2 HEBA
ALAIEH b 100,000,008 * 14! 100,000
O[EXI0HHI] 200,000
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401 Al&HI LS04I 164,000 303,402 A139,402
01 Al&H| 164,000 300,000 A 136,000
OlAI&HI] 164,000
OZUzZeE el MUTZ HASA
164,000,000& * 14 164,000
sg3dsd 2t 7,911,770 7,660,129 251,641
= 281,840
= 3,967,926
= 455,274
= 3,206,730
JIBHAIE RN+ 35,550 35,640 290
JIBHAlE ZHIXI &AL 24,750 24,300 450
201 et 24,750 24,300 450
01 AtS 22l 24,750 24,300 450
O[gxtz] 24,750
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201 et 12,604 11,237 1,367
02 2323l 12,604 11,237 1,367
O[AI&EEI=XI8l] 12,604
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45,500 « 277CH 12,604
2018 FH| 4,196,908 3,682,637 514,271
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= 9,669
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= 281,840
= 70,776
401 Al&HI LS OHYI 307,616 352,300 AN44,684
= 245,840
= 61,776
01 Al&H| 305,094 349,778 A44,684
OlAI&HI] 305,094
Ost&libl === HEAE
305,094,000 * 14 305,094
= 244,075
= 61,019
03 AIZ20i4l 2,522 2,522 0
OstY il 2 HEAIY I
350,271,000& * 0.72% 2,522
= 1,765
= 757
402 2t HE01M 45,000 0 45,000
= 36,000
= 9,000
01 2IEXIEE X 45,000 0 45,000
Ot idl S+ JHZ ALY 45,000,000& * 14 45,000
= 36,000
s 9,000
sX Jlgtxd 1,777,028 2,319,145 AB42 117
& 610,000
= 78,430
= 1,088,598
2t0l ZAEHClArY 90,810 90,648 162
401 Al&HIZL=ROHYI 90,810 90,648 162
01 Al&HI 90,000 90,000 0
O[AI&Hl] 90,000
OzZtol BXEHZIAY  15,000,0008 * 6902 90,000
03 A2 204bl 810 648 162
Oz2H0l ZXEeIAY 2l
112,500,000 * 0.72% 810
JIAHSHEHZ B ALY 872,000 1,220,000 A 348,000
= 610,000
S 78,430
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401 AIEHIZ 208 872,000 1,220,000 348,000
& 610,000
= 78,430
= 183,570
01 Al&HI 866,541 1,212,314 N345,773
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45,000,000 * 5.6800 A 255,600
03 Al&=20HH] 3,618 3,497 121
OARD SI|BHEHIALY 20|
1,005,000,0002 * 0.36% 3,618
F2ANES RIES 534,059 537,922 A3,863
[ 125,000
= 409,059
E42 RESIIMY 146,501 152,000 A5,499
[= 56,000
= 90,501
401 Al&HI LS 146,501 152,000 N5,499
[= 56,000
= 90,501
01 Al&H] 146,501 150,906 4,405
O[AI&HI] 146,501
0522 REZSFAY(EX)
146,501,000 * 1Al 146,501
[= 56,000
= 90,501
SA2L, RXEFALY 135,972 136,296 A324
401 Al&HI LS 135,972 136,296 N34
01 Al&H] 135,000 135,000 0
O[AI&HI] 135,000
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401 AIEHIL S 72,648 74,592 A 1,944
01 Al&H| 72,000 72,000 0
OlAl£HI] 72,000
O#2IAIE B4ZAb 7,200,008 * 10H4 72,000
03 Al&= bl 648 2,502 A 1,944
O%2lAlE B4BA 204
72,000,0008! * 0.9% 648
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401 AI&HIL S| 27,292 27,567 A275
01 Al&H| 27,000 27,000 0
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SAMSR 2AAY 58,000 58,000 0
= 29,000
T 29,000
401 AIAHIL 2T 58,000 58,000 0
= 29,000
T 29,000
01 Al£H| 57,478 57,478 0
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OF 44X 24AY 57,478,008 « 14! 57,478
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01 Al&HI 13,500 13,500 0
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2,250,000 * 690 A 13,500
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01 AtER22|H] 14,481 14,897 A416
Oler=gHl] 9,763
ORNEZE SUHA 4,263,000& * 14 4,263
OEE Jtz&td LY 5,500,000& * 14 5,500
Ol=&tl] 4,718
OFRN2ZE SUAL 2,268,000& * 14 2,268
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S AL
MM HESHAH (AL
Cel: J|=2&H] (St &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
OHAEHME ARF& S|
2,450,000 * 14l 2,450
02 222%H| 2,160 2,160 0
Ol2222 2 MAl 2,160
OALYTI LBIEER
45,0002 = 404 » 12 2,160
202 O4H] 7,825 7,825 0
01 2oy 7,825 7,825 0
SA2H SHA A
20,0002 * 591 * 78.25 7,825
203 YR =Z&H| 4,200 0 4,200
04 BNRIARZ=EIH| 4,200 0 4,200
OBM2IAR =X 350,000 * 12& 4,200
E=2gd J|=2AY 11,685 12,096 A411
201 LEt2HH| 7,716 9,261 A1,545
01 AtRZt2lH] 7,716 9,261 A1,545
Olgetx=gH|] 5,481
OBAN2YE S HH A 5,481,0002 * 14 5,481
O3] 2,235
ORAN2HE SHAHA 2,235,000 * 14l 2,235
202 OfH] 3,969 2,835 1,134
01 2oy 3,969 2,835 1,134
OFEN2ZE SHH &
20,0002 * 491 * 49.61L 3,969
JlgtxAYE J|=AH 6,652 10,829 A4 ATT
201 LEt2AH| 3,326 7,503 A4 177
01 AFRZ2lH] 3,326 7,503 A4 7T
Olger4=2Hl] 3,326
OBANSY SUAH A 3,326,000 * 1Al 3,326
202 OfH] 3,326 3,326 0
01 2o 3,326 3,326 0
OFRN2E SHH A
20,0002 * 491 * 41,5752 3,326
SIS S D=2 A 16,071 15,567 504
201 LEt2HH| 9,271 8,763 508
01 AFRZt2lH] 9,271 8,763 508
Olgetx=gH|] 5,239
OBAN2H SUAH A 5,239,000 * 14l 5,239
Ola3gHl] 4,032
ORAN2HE SHAH A 4,032,0008 * 14l 4,032
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SN AL YT
o HY2AAH (AL I)
el J1= R EEREE)
. _ _ Muo
SN -BH - S(B) - MRAY - BES Off &k il i~ o Hn=2
202 Ot 6.800 6,804 A4
01 ZLjoit] 6.800 6,804 A4
SNSY ZUNL 20,0008 * 82 * 42,52 6.800
TP S (24 a8 ) 357,000 266,000 91,000
TESIE P 357,000 266,000 91,000
ZEES 357,000 266,000 91,000
702 JI2HES 357,000 266,000 91,000
01 JI2HE2 357,000 266,000 91,000
OMur22ld2 357,000,0002 * 14 357,000
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